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4,000m*/sec 600m*/sec
3,400m*/sec
4,000m*/s 600 m*/s 3,400 m¥/s
3,400m*/sec
4,200m*/sec
6,000m*/sec

1
4,000m*/s
m/s

4,000 4,000
2

4,000m%/s

4,900m*/s
6,000m/s
640 m¥/s 1,800
m/s
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km T.P.m
31.0 30.56
11.8 11.41
6.3 7.56
3.0 14.27
4.2 12.49
T.P.
2
6.8m*/sec 1.2m¥/sec 1.4m¥/sec
.4m¥/sec 10
8m/sec 11.1m%/sec
10m/sec

1
- T.P.m (m)
38.3 44 .15 220
11.2 10.87 260
6.2 7.44 320
2.0 4.00 390
7.1 21.68 100
4.6 12.80 120
1
T.P. 2000
4
9.0m%/s
1.6m%/s 0.9m%/s 11.5m%/s
9 48 (33 17
7. 10.0m*/s 6.1m%/s 10
3.1m%/s
9
10 mom/s 9 11 4 30 3m’/s
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